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,Answer question 1 and any three other questions from this paper. 

Question 1 

... should we integrate mathematics and science in refonning science education? 

(From Furner and Kumer, 2007) 


a. 	 Discuss this question giving three benefits and three problems for integrating 
mathematics and science. (18) 

b. 	 Use the activity in appendix A to show how mathematics and science has been 
integrated. (7) 

Total 25 Marks 

Question 2 

a) 	 Distinguish between errors and misconceptions giving examples from mathematics to 
illustrate your answer. (15) 

b) 	 Describe concept development using examples from mathematics. (10) 

Total 25 Marks 

Question 3 

a) Describe Maslow's theory of motivation (15) 

b) How does the humanist view of motivation differ from the behaviourist view? 
(10) 

Total 25 Marks 


Question 4 


a 	 Outline the criteria used for selecting teaching resources (10) 

b. 	 Supposing you are responsible for teaching mathematics to a Grade VI class, 
describe the resources you would use to teach the topic in Appendix A. 
(lS) 
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Total 25 Marks 

Question 5 

Learners tend to have difficulties in learning mathematics. Discuss showing the type of 
difficulties faced and effect on learning. (25) 

Total 25 Marks 

Question 6 

i. Defme situated cognition. (3) 

11. 	 Discuss the difference between learning in a home and a school environment. 
Use examples to illustrate your answer. (16) 

Total 	 25 Marks 
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APPENDX A 

Investigation 1: Making a generalisation 
Exercise 

Study hoV'.' the follo'h'ii~9 shope5 are bul!t using &ticks TI":i:i is onE! Jf 
the !.r(J(jitional pCitterns b~ ttls Shongn pSJ}pte ~)f cerHrCl! Atr;ci], 
r-·-~ -+ ,. ,.. I · .,- --\5 r • l' ..,.,.'I" 	 .. 
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[nformalion from the Shl..1P8S obeve was put into tr:o tob!t! below. 
Complete the tobIE!_ 

----.-~ -I~--

2 	 co;, 

j-----,~-~. 

(I)) 	1" it olwoys possibl8 t>:; find "!i-li": flllmtier slicks U:::'8Ct V.,It-len 'jiv'3r; 
ill,?, shape number'? 

Yt~Sino 

(b} 	Compl~te the gen(.;f;.JliGatioil: Th8 nurnC0r (A stk'~:s used i; ai,',;u\:I:S 
equal to 

----- ,----- ----- ­



.I:,,~. 4. For this activity, yeu need to study the Shongo pattern abovE: 
(., ..... .: again.

PB page 23 
Complete tl1is table. 

(0) 	How do you always get the next number of squares? 

(b) 	 Is it alvJays possible to get the number of squares created when 
given the shape number? 
Yeslno 
Explain ______________________ 

(c) Complete the generalisation for the above tabie. ­
The number of squares is always equal to 

10 


